Evaluate a trigonometric expression exactly (leave as a fraction).
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In AABC, m/C = 90°, AC = 3, BC = 4, and
AB =5. Find sinZA.

In AABC, m/C = 90°, AC = 3, BC = 4, and
AB =5. Find tan/A.

In AABC, m/C = 90°, AC = 3, BC = 4, and
AB =5. Find cos/B.

In ADEF, m/E =90°, DE = 8, FE = 15, and
DF =17. Find sin/D.

In ADEF, m/E =90°, DE = 8, FE = 15, and
DF =17. Find tan/D.

In ADEF, m/E =90°, DE = 8, FE = 15, and
DF =17. Find cos/F.

In AMNO, m/N = 90°, NO = /5, and MO = 3.
Find sin /M.

In AMNO, m/N = 90°, NO = /5, and MO = 3.
Find tan /M.

In AMNO, m/N =90°, NO = /5, and MO = 3.
Find cos £ O.

In APQR, m/Q =90°,PQ =1, and QR = 3.
Find sin ZP.

In APQR, m/Q =90°,PQ =1, and QR = 3.
Find tan /P.

In APQR, m/Q =90°,PQ =1, and QR = 3.
Find cos ZR.
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In AABC, m/C = 90°, AC = 3, BC = 4, and
AB =5. Find cosZA.

In AABC, m/C = 90°, AC = 3, BC = 4, and
AB =5. Find sin/B.

In AABC, m/C = 90°, AC = 3, BC = 4, and
AB =5. Find tan/B.

In ADEF, m/E =90°, DE = 8, FE = 15, and
DF =17. Find cos/D.

In ADEF, m/E =90°, DE = 8, FE = 15, and
DF =17. Find sin/F.

In ADEF, m/E =90°, DE = 8, FE = 15, and
DF =17. Find tan/F.

In AMNO, m/N = 90°, NO = /5, and MO = 3.
Find cos /M.

In AMNO, m/N = 90°, NO = /5, and MO = 3.
Find sin Z O.

In AMNO, m/N =90°, NO = /5, and MO = 3.
Find tan Z O.

In APQR, m/Q =90°,PQ =1, and QR = 3.
Find cos / P.

In APQR, m/Q =90°,PQ =1, and QR = 3.
Find sin /R.

In APQR, m/Q =90°,PQ =1, and QR = 3.
Find tan /ZR.



